Y bA [EYRREE] RMIER

1 by oFEEE H G (FEAZ 2 1,000 KL, %, RA k)
20220FQ1 | 2023l T T IO | B 5E

EEEEETT 6, 324, 034 7, 460, 225 12. 1 18.0 1.9
— A Ak 5,331, 773 6, 218, 379 10. 1 16.6 1.5
AN A 3,076, 486 3, 740, 376 6. 1 21.6 1.1
S ERRE 2, 890, 328 3, 318, 900 5.4 14. 8 0.7
4 RS 2,301, 897 2,672, 605 4.3 16. 1 0.6
TS AF 7 B 2,801,971 2, 654, 743 4.3 A B3 AO0.2
= FKE 2,725, 998 2,625, 570 4.3 A37 A 0.2
RO L 2,519, 942 2,500, 851 4.1 A 0.8] A 0.0
= NAIH 2,178, 845 2,291, 420 3.7 5.2 0.2
o 4,122,941 2,089, 518 3.4 A 49.3] A 3.4
HE 60, 067, 802 61,558, 113[ 100.0 2.5 2.5

(HPT)  Bov 3 #aHREAE (TUTK)

#2 oo EEE - HERR (BEAZ 1,000 KL, %, AR"A > k)
20224FQ1 20234FQ1 W] e | S5 E
FU 25, 685, 889 25,904, 672 42.1 0.9 0.4
FA Y 5, 279, 749 5, 528, 204 9.0 1.7 0. 4
PR 4,019, 665 3, 655, 960 5.9 A 9.0 A 0.6
AZVT 3, 383, 428 3,223, 327 5.2 A 47 A0.3
A 1, 158, 714 3,102, 490 5.0]  167.8 3.2
RS 3, 204, 345 2,933, 137 4.8 A 85 A 0.5
A7 3,091, 205 2,710, 179 4.4 A 12.3] A 0.6
75 A 2,216, 719 2,590, 072 4.2 16.8 0.6
2R 2,491, 067 2,520, 962 4.1 1.2 0.0
E 2,049, 149 1, 818, 145 3.0] A 11.3] A 0.4
A AT T )L 1, 866, 608 1, 546, 340 2.5 A 17.2] A 0.5
B 60, 067, 802 61, 558, 113 100. 0 2.5 2.5

(AT bov =it A (TUTK)




Y bA [EYRREE] RMIER

#3 bV BN H A (BLT 2 1,000 KV, %, RA 2 R)
20226FQL | 20230l T rTRE | B AR
S ERRE 24,997,870 21, 381, 032 22.2] A 14.5] A 4.2
4 E A 2,640, 816] 11,453,924 11.9 333.7 10. 2
— R Ak 7,711, 454 9, 696, 665 10. 1 25. 7 2.3
AN 4, 813, 490 6, 744, 439 7.0 40. 1 2.2
EEENEETT 3, 532, 898 6, 003, 077 6. 2 69.9 2.9
PR 7,939, 574 5,973, 764 6.2 A 24.8] A 2.3
TS5 AT 7 B 5, 339, 938 4,197, 864 4.4 A 214 A 1.3
AL T 3,097, 533 2,417, 474 2.5 A 22.0] A 0.8
FE e 1,233, 253 1, 880, 439 2.0 52. 5 0.7
TS =7 LK% ORI B i 2,273,917 1,579, 085 1.6] A 30.6] A 0.8
B 86, 604, 832] 96, 249,832  100. 0 1. 1 11. 1
(HiPT) B ov 3 #aHREAE (TUTK)
4 hvaoFEEE - #E A (FA7 2 1,000 KL, %, RA L F)
20226FQL | 20230l e T TRE | B hE
EU 22, 118, 102] 25, 761, 545 26. 8 16.5 1.2
a7 12,720, 651] 13,076, 597 13.6 2.8 0.4
REIES 9,888, 493 10, 444, 431 10.9 5.6 0.6
A A A 860, 347 9, 163, 968 9.5 965. 1 9.6
KA 5,513,724 6, 581, 883 6.8 19. 4 1.2
PE 3, 663, 947 3,702, 466 3.8 1.1 0.0
AHX)T 2,963, 287 3,577, 147 3.7 20.7 0.7
7T A 2,302, 788 2,919, 748 3.0 26. 8 0.7
B [E] 2,089, 905 2,178,973 2.3 4.3 0.1
P 2,713,145 2, 045, 460 2.1 A 24.6] A 0.8
A 1, 731, 303 2,021, 982 2.1 16. 8 0.3
B 86, 604, 832] 96, 249, 832  100. 0 11. 1 1. 1

(AT bov =it s (TUTK)
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